
Volume 2

Bulletin 2008-2 Single-Family Seller/Servicer Guide 04/17/08

As of 00/15/00

Escrow Custodial Reconciliation

Worksheet - Monthly Account Statement

Seller/Servicer Number: Seller/Servicer Name:

Section 1 - Adjusted Bank Balance

1a) Bank Balance as of 00/15/00

1b) Subtract: Outstanding debits

1c) Add: Deposits in Transit

1) Adjusted bank balance (lines 1a-1b+1c) 0.00

Section 2 - Total Liability

2a) Escrow trial balance total as of 00/15/00

Enter cumulative totals for:

2b) Negative escow trial balance as of 00/15/00

2c) Adjustments for suspense accounts

2d) Adjustments for Mortgages not included on trial

2e) Adjustments for other accounts (e.g. buydown

subsidies)

2) Adjusted escrow balance (lines 2a+2b+2c+2d+2e) 0.00

Section 3 - Total Variance

3a) Current cycle's total cumulative variance (line 1 - line 2) 0.00

3b) Enter previous cycle's cumulative variance (line 3a of previous cycle)

3c) Current cycle's variance (line 3a - 3b)
0.00

overage/(shortage)

Prepared by: _____________________________ Date ________________________________

Approved by: Date ________________________________

You must complete a consolidated reconciliation if you have more than one Escrow Custodial Account

Form 59E
  

Enter the balance from your Escrow Custodial Account bank statement as of the accounting cycle cutoff (usuallythe 15th day of the month).
Example: If you are performing November’s reconciliation, use the bank balance as of 11/15/XX.
Supporting documentation: The current cycle’s bank statement to verify the bank balance as of the accounting
cycle cutoff.


Enter the total amount of funds disbursed from the Escrow Custodial Account as of the cutoff but not reflected on the bank statement until the next Business Day after the cutoff.
Note: Any disbursement as of the accounting cycle cutoff that is not reflected on the bank statement must be included on this line.
Supporting documentation: The bank statement, with all outstanding debits clearly identified.


Enter the total amount of Escrow funds that have been collected as of the accounting cycle cutoff but not reflected on the bank statement until the next Business Day after the cutoff (or two Business Days after the cutoff for lockbox transactions).
Supporting documentation: The bank statement or the monthly collections report with all deposits in transit clearly identified.


Enter the total of lines 1a–1b+1c.


Enter the total of the Escrow balances as reflected on your investor loan trial balance. Ensure that the amount of total Escrow includes all positive balances and excludes negative balances. If your trial balance nets negative Escrow from positive Escrow you may add back the negative Escrow on line 2b. You, as the Servicer, must advance any negative amounts for each individual Borrower the same day the shortage occurs.
Supporting documentation: The last page of the trial balance that supports the positive Escrow liability.


Add the total amount of negative Escrow balances if your trial balance subtracts them from the total in line 2a. If the Escrow balance total on the trial balance is a “netted” figure, you must add the total amount of any negative Escrow back to the netted Escrow figure to capture the total positive Escrow liability.
Supporting documentation: The totals page of the negative Escrow trial balance.


Add your suspense account balances if they are not included in trial balance totals on line 2a. Suspense funds are partial payments or unapplied funds held in the Escrow Custodial Account until the funds are applied to the Mortgage or returned to a Borrower.
Supporting documentation: The last page of the trial balance that supports the total suspense liability.


Add the Escrow balances of any Mortgages funded by Freddie Mac as of the accounting cycle cutoff, but not included in your trial balance totals on line 2a.
Supporting documentation: A screen print of the Mortgage history that verifies the Escrow balance at the time of cutoff, or a spreadsheet with a list of Mortgages and their respective ending positive Escrow balance.


Add the total of your buydown account balances if your trial balance subtracts them from the total on line 2a. The balance of a buydown account must equal the total of buydown funds deposited at the time we purchased the Mortgage, minus the monthly buydown amount, times the number of payments applied since we purchased the Mortgage.
Note: If the amount of your buydown liability is negative, determine the reason before you account for a negative liability on Form 59E.
Supporting documentation: The last page of the trial balance that supports the total liability for buydown subsidies.


Enter the total of lines 2a+2b+2c+2d+2e.


Subtract line 2 from line 1. This is your total cumulative variance for the current cycle.
Supporting documentation: If there are any variances, you must provide a bank statement or screen print showing verification of the deposit or withdrawal correcting the variances. All variances must be cleared within 90 days of the accounting cycle cutoff, even if the source of the variance has not been identified.


Enter the total amount of cumulative variance (line 3a) from the previous cycle’s Escrow Custodial Account  Reconciliation Worksheet.


Subtract line 3b from line 3a. This is your current cycle’s variance (overage/shortage).
Supporting documentation: Variance logs.


Note 1: If there are posting errors, you must attach a copy of the transaction that was made in error together with the documentation for the correcting entry.
Note 2: In addition to the supporting documentation identified within this form, Freddie Mac reserves the right, at any time and at its sole discretion, to request copies of any other documentation that it deems necessary to ensure that the custodial account reconciliations are completed in accordance with the requirements set forth in Chapter 77, Establishing Investor Accounting Functions, and Chapter 79, Managing Custodial Accounts, of the Single-Family Seller/Servicer Guide.
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